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(D 6p°+7pg—3¢" (10) abx®*— (b —a®x—ab
=(2p+39)(3p—q) =(ax—b)(bx+a)
2 3¢ — 9q a —b — —p?
3><“"¢1—’“2(1 b>< a — at
6 —3¢° 1q ab —ab —(b%*—a?
1 5X=0’+3-0a%143-a- 124+ 1¥=0"+3a%+3a+1
@) HXi=a%+3-a%36+3-a-(30)°+(3b)°=a’+9a% +27ab®+ 270°
3) HA=(22%—3-(20)%1+3:24-1°—1°=84°—12a°+ 6a~1
@) 5 =(—3a+3-(—3a)% 2b+3-(—3a)-(2b)" +(2b)°
= —27a°+54a% —36ab®+8h°
(1) X =(32x—53x+5y) =(32)%—=(55%=09x2—25y
@ Ha=(—20%42-(—2%)3y+ (35 =4x"— 1229+ 95>
(3) HR=224+B+Dx+3-4=2"+Tx+12
() HX =224 (—4y—2y)x+(—4y) - (—2y)=x>—6xy+8y”
5y HER =202 +12(—=4+3-Ux+3(—4)=2x>-5x—12
®) H5RX=(3¢)"—3-(30)%-2+3:30-2°—2°=270°—54a* + 362 -8
(7) B =(3a)*— (40’ =27a°— 6453
18l () BA=2a+ 0)2a— b)) =(20)* - b% = (4a*— b?)*
=(4a%*—2-4a% b*+(bH:=16a"~8a’h*+ b*
@) S ={2x— 2+ PP ={207 — yP =(dx? — y?)
= (4227 =3 (4xH2 y2 £ 3- 427 (yH2 = (»?°

=645 —48x% y? 4 1222y — »°
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AOFHEO  REEH EL By OFRKDOI=DIC, BHomBET ! 1)
(3) L =(x—2)0x+2)x(x*+4)=(2"—4)(x*+4)
={x?):—4t=1"'-16
@) Hx=(a’—a)+1}{(a’—a)~1}=(a’—a)? -1
={a)?—2-a* a+a’—1
=a'—2a*+a*—1
6) Hh=[(r+{y—32)x—(y—32)} =2>—(y—32)°
=x>—{(9?—6yz+92%
=1t —y? 469z —9z2°
6 HGR=((a’+2b%)—abl{(a®+20%+ ab)=(a’+20%*—(ab)?
={a®?+2-a® 267 +(26%)*—a%p?
=q'+4a’h?+4b"—a’?
=a'4+3a%h?4+4b"
SR,
(1 5X=a’+ (=024 c?+2a(—b)+2(—b)c+2ca
=al+ b+ c?~2ab—2bc+2ca
@) H= a4 (—b) 24 (—20)°+ 2al — b)+ 2 — b)( —2¢) + 2 —2¢)a
=a’+ b +4ct—2ab+4bc—4ca
i,
(1) 6a%h—8ab=2ab(3a—4)
(2) 12mixy —Amx?y* +8mix = dma(3my® — xy* + 2m x)
@) (a+bx—la+bly=(a+blx—y)
@) (a—b)y'+clb—a)=(a—b*—cla—b)
=(g—b){(a—b)—c}
={g—bjla—b—r¢)
21} 1) 5224+ 7x+2=(x+1)(5x+2) (2) 342—10a+3=(a—3)(3a—1)
I 1 — 5 1 -3 — -9
5 >< 2 e 2 3 -1 — -1
5 2 7 3 3 —10
(3) 4a*+3a—27=(a+3)(da—9) 4 2a’—~Ta—15=(a-5)2a+ 3}
1 37— 12 1 5 — —10
4 >< -9 — —§ 2 3 — 3
4 —-27 3 2 —15 -7
5) 3x%4+17x4+10=(x4+5)(3x+2) 6) 122%—25x412:=(3x—4)(dx—3)
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1. Xo#HED B < A4 0ORZO-DIL, OOEET ! ]

1 5 —= 15 3 -4 — —16
3>< 2 — 2 4 -3 — -9
3 10 17 12 12 —25

() 5a%+7ab—6b*=(a+2b)}5a—3b) &) 6x°—xy—129%=(2x~3»)(3x+4y)
1 26 — 10 2 -3y — =9y
5><—36—>—3b 3>< 4y — By

5 —6b? 75 6  —l12y? —y

_16_



